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## Cross tables For Categorical dafa ##
-genderzc(rep('Boy',lO),rep('Girl‘,12))

Pl !
a7 (At i

L’.:_n?h; {: el

1))

data.frame (gender, drink)
class (gender) ;class (drink)
tablel=table (gender, drink)
ablel

£
Gfely

gy Prl’-{: Pt

Mgl AN “}J‘
plot (tablel) < ﬁﬁ}gfqpﬁg

plot (& {tablel) )f f;{”h% b mnP R

datal=data. frame(gender, drink) ) {'4 o
datal j Gzin &
plot (datal) ot b sa
plot {gender~drink) #Will not work
plot{(gender,drink) #Will not work

parplot (tablel) & B6 Altis G i
barplot{tablel, legend. text=rownames (tablel}) fape
barplot (tablel, legend. text=T)

barplot{t{tablel))

gender.n=spply(tablel,1,sum) & /M f& %m ~3an rdan
drink.n=apply(tablel, 2, sum) £ s ( Sumorhod AT

## Marginal proportions on cross tables #i#
apply(taklel,2,'/',gender.n}
apply(tablel,l, '/, gender.n) #won't work!
apply({tablel,1,'/',drink.n)

.- i

apropos{'table")
margin. table(tablel, 2}
prop.table(tablel,l)z - el s bR

prop.table(tablel,2) ] it

par {mfrow=c(1l,2)) #subdivinding the plotting window

drink=c(rep('Coke‘,5),rep('Sprite',3),rep('Coffee',S),rep{'Tea',7),rep('Water',

RO

‘{2‘):‘: ¥

St aoEh
= ort Alping f

< 2-f Plot (v ppn A

pie(prop.table(taklel,l)['Boy',),main="'Drinks given Boys') } ~MYngn medN

pie(prop.table(tablel,1) ['Gixl',],main='Drinks given Girls"')

Cmeld fes

barplot (prop.table(tablel,1l) {'Boy',],main='Boys') ;barplot (prop.table (tablel,

I ['Girly, ], main="Girls"}
par (mfrow=c(2,3))

pie{prop.tableitablel,1l) {, 'Coffee’'],main="'Coffee');pie(prop.table(tablel, 1) [,

"Coke'],main="Coke"');

pie(prop.table({tablel, 1} [, 'Sprite'], main="5Sprite');;pie(prop.table(tablel, 1) [,

'Tea'l,main="Tea');
pie{prop.table(tablel,l) [, "Water'],main="Water'};
par (mfrow=c{1l,1))

barplek (tablel)

barplot {prop.table(tablel, 1)}

barplot {(prop.table(tablel, 2} )

barplot (t(prop.table(tablel,1l} ), legend. text=T)

## Histogram of continous data (hand made) ##
o) Px=c(-2.44,-1.70, -1.45, -1.,27, -1.25%, -1.12, ~1.10,

-0.12, -0.01, 0.24, 0.51, O0.80, 1.04, 1.15, 1.

A pr Y B higt (X)) ## Disjoint window histogram
fsrn 2 0En splot (density (x, kernel="rectangular',bw=0.5) ,main="")
ponn R with wideh 1

: title(expression(Wit)==ifelse{abs{t)<=0.5,1,0}})

-1.,05, -1.01, -0.50, -0.33,
28, 1.77)

## Simple moving average
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# Generating some data. ... ////IT—‘\\\\&hH

samplel=rnorm(500) « /ﬂgﬂ),ﬂkbﬁaﬁﬁ%) Fant 4 =
samplel -
table{samplel) #Ridiculous! ijg%ﬁxmz‘
barplot (table(samplel)) #Ridiculousi “fapn 74
R I
## Stemp plot ##
stem(samplel) om0
ﬁ?m“ fs ﬁ?h§stem(samplel,scale=2) %&af‘Q
st AT Istem(samplel, scale=0.5)
#iMore histograms ## .
hist (samplel, freq=T,main="'Counts’) éﬂw%”“fmﬁﬂ
hist (samplel, freq=F, main='Frequencies') | ey
plot (density(samplel})
# Boxplot (SpongeBob?)
~20h 1 = bosxplot (samplel)
Erai AV 0 text (locator (3}, labels=c{'Quartile 1', 'Median', 'Quartile 3"))

e AT ape=c|
‘Min x{i) s.t. x{(i)> Quartilel - 1.5* IQR ' ,
‘Max x{(1) s.t. x{i)> Quartile3d + 1.5* IQR ' )
text {locator{2), labels=1abs)
points (x=rep{l,500),y=samplel,col="red"' cex=0.5)

## Bone data revisited #4#

bone=read. table('http: //www-
stat.stanford.edu/~tibs/ElemStatlearn/datasets/bone.data’  header=T)
names (bone)

summary {bone)

gstem{bonel, 'age']l)

hist(bonel, 'age'])

plot (density{bonel[, 'age']})

NG A7 & ind= (bone[, 'gender’ |=='male') #Clonstructing a gender indicator

o ,ﬁa‘"’l
‘ par (mfrow=c(2,1)) #Splitting plotting window

y° {5 578 A9 > plot (density (bone(ind, 'age']),main='Male’} ‘}_7*%7;§
o (5 o7s 3T P plot (density(bonellind, 'age')),main="Female')J x > H¢
( plot (density(bonelind, 'age']) ,main="Male'  xlim=c(5,30}) # Adjusting x axis to
{PnYFit both genders
A1 fplot(density(bone(!ind, 'age’]},main='Female', xlim=c(5,30)) # Adjusting x axisg

to fit both genders

boxplot (bone{ind, 'age'].main="Male")
boxplot (bone{!ind, 'age'] ,main="'Female')

par{mfrow=c(1,1})
boxplot {bone$Sage~boneSgender, main="'Age vs. Gender')
boxplet {bone$spnbmd~bonesSgender, main="'Bone density vs. Gender')

#### Scatcter plots ####4
# Sine function
x=seg(~pi,pi,0.01)

y=gin {x)

plot (v~x)

#Exponent function
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x=seq(-pi,pi,0.01)
y=exp (x)
plot (y~x}

# Singe Function
x=seqg(-10*pi, 10*pi, 0.01)
y=8in(x)/x

plot (y~-x)

# Fancy function
x=geq{-pi,pi,0.01)
y=sin{exp{x))+cos (2*x)
plot {y~x)
plot{y-x,type="1"}
plot{y-~x, type="0"}

## what about three-way relations? ##
library(rgl}

x=seq(0,1,0:01);y=seg{0,1,0.01}
xy.grid=expand.grid(x,vy)
funcl=function{mesh} exp(megh{,l]l+mesh(,2])
z=funcl (xy.grid)

xyz=data.frame {xy.grid, z)

plot3d(xyz, xlab="x"',ylab="y")

## Some real life data
ozone=read. table( 'http://www-

stat.stanford.edu/~tibs/ElemStatLearn/datasets/ozone.data',header:T)

names (0zone)
plot (ozone)

plot3d(ozone[,1:3]}

u.multinet.co.il



